
Unit 1

Keys:

A. 1. B  2. A  3. A  4. C 

B. 1. software designers   2. software updates   3. expectations   4. consumer demand    5. moving into
Unit 2

Keys:

A. 1. F  2. T  3. T  4. T  5. F  6. F  7. T  8. T  9. T  10. F

B. 1. Some people use the creepy crawlers to catch fish. But others put worms to work making compost. 

  2. The size of the composting bin depends on how much compost you want to make. You need about a kilogram of worms for each half a kilogram of daily food waste that you add.
  3. The bin needs holes so the worms can get air. 

  4. When you feed the worms, place the food about two and a half centimeters below the surface of the bedding and cover it. 

C. 1. container   2. daily   3. moist   4. newspaper    5. handfuls
Unit 3

Keys:

A. 1. C    2. D   3. B   4. B   5. A

Unit 4

Keys:

A. 1. A   2. D   3. A   4. B 

B. 1. T   2. T   3. F   4. F 

Unit 5

Keys: 
A. 1. B    2. A   3. D   4. B

B. 

1. tomatoes, asparagus, broccoli, daylilies, horseradish, potatoes, oregano, winter onions, etc

2. his tomato plants grow well as long as they get five hours a day of direct sunshine, especially morning sun.  

3. wider leaves; in partial shade   

4. The potatoes get morning sun, but they are shaded during the hottest part of the day. In this way, he can control the leaf hoppers in his potato planting field. 

5. Time of day, brightness of the sun, shadows from trees, walls and buildings 

Unit 6

Keys: 

A. 1. B  2. D  3. C  4. B

B. 1. (Goalie) Tim Thomas   2. the favorites 

Unit 7

Keys: 

A. 1. D 2. C 

B. 1. T 2. F 3.F 

C. 1. business and social skills
2. stealing someone's identity
3. with the knowledge gained
4. are being part of the community;   successful, accountable 

5. spread to prisons throughout the country
6. an automobile repair business.
Unit 8

Keys: 

A. 1.C 2. B

B 1. F 2. F  3. T 4. F  
C. 1. A nickname is a shortened form of a person's name. A nickname can also be a descriptive name for a person, place or thing.
  2. because of the fruit that grows in that city’s warm climate.
3. Because of the shiny, bright and often unreal nature of Hollywood and the movie industry. 
  4. Many people love Los Angeles for its warm sunny weather, beautiful mountains and beaches, and movie stars.
Unit 9

Keys: 

A. 1. T  2. F   3. F  4. F 

B. 1. A 2. B 
C. 1. a memorial service 
2. expected to attend the funeral
3. current
4. won a majority in the first vote
Unit 10

Keys: 

A. 1. D 2. A

B. 1.T 2. F 3. T  4. T 5.F

C. 1. when the undesirable qualities of the weed outweigh the good qualities.
  2. Chemical weed killers or natural treatments like corn gluten can suppress weed growth.; Other controls include turning over the soil, pulling the weeds or covering them with mulch made of wood, garden waste or other material.

Unit 11

Keys: 

A. 
1. not from the street
2. cheat or betray
3. interference
4. realistic, forcefully denounce 
B. 
1. A  2. B   3. D  4. D  5.A  
Unit 12

Keys:

A. 1. A 2. D 

B. 1. are likely to; candidate 

2. be decided by the votes in those few states 
3. equal support
4. they talk about to different crowds
5. accepts financial donations for the campaign
6.. majority; extremely
C. 
1. A: The states where the support for the two candidates is almost equal and they could go either way.
2.. A: The candidates are now on the campaign trail, traveling around the country. They have favorite subjects that they talk about to different crowds.
3. A: It means the members who form the major part of a group, but not its leaders or officers.
Unit 13

Keys:

A.    1.C    2.D

B.

1. to create technology

2.Intergovernmental and nongovernmental organizations.

3. more than four hundred of the students registered for this year's competition.
C.1. inspired  2. overthrew 3. February  4. Bluetooth  5. shuts down  6. nine 

 7. twenty-five thousand dollars  8. developed a device
Unit 14

Keys:

A 

1.  F  (not the second but the third largest American city )

2.  T

3.  F  ( not from a novel but from a poem)

B.

1.  4.  They are The Second City, The Windy City, Hog Butcher for the World and the Big Shoulders or City.

2. My Kind of Town 

C.

1. next to    2. website     3. blows off     4. advertised   5. cool
6. travels down  7. how great their city was  8. the eighteen seventies
Unit 15

Keys:
A.

1. AIDS drugs can increase life expectancy in patients to nearly normal levels .

2. The first reason is that men spend more time looking for a job and spending more time away from their family to try to find a way to survive. The second reason is obviously the issue about stigma.
B.

1. released     2. appear    3. fifteen to twenty years    4. sharply
5. with the access to     6. reversed    7. paying off  8. separately  

9. transmit  10. uninfected   11. released    12. daily 
Unit 16

Keys:

A.

1. F (not one in six but one in five)

2. T

3. T

4. F ( not more than fifty percent but more than forty percent)

B.

1. Because of the recession, many Spaniards are out of work. Learning English can help the people to find jobs in Britain or the United States, or help to work for international companies with offices in Spain.
2. It means that in Spain there are few Spaniards speaking English.
C.

1. cultural reasons  2. professional   3. globalization
4. few other choices  5. mobile     6. because of necessity
7. indeed  8. doing a whole degree  9. particularly  10. bilingual
Unit 17

Keys:

1. at least thirty people   2. Most of the victims were in Germany.  3. to blame
4. her country's losses     5. the risk of passing judgment  6. end its ban
7. details   8. WTO membership   9. two hundred twenty million
10. estimate   11. troubling   12. earlier rescue loans  13. Separately
14. the next head of    15. is seeking to
Unit 18

Keys:

A.

1. the United States, Australia, China, France, India
2. 

B.

1. F (not about June but July)

2. T

3. F (not fifty but five) 

C.

1. event or activity  2. falling in love   3. sweetheart’s  4. touch 

 5. represent   6. crowds  7. huge  8. explode

4级答案(一)

Keys: 
11. C 12.B 13.C 14.C 15.D 16.C 17.C 18.A

19.D 20.D 21.A 22.A 23.A 24.B 25.D 26.D 27.D 28. D 29.A 30.C 31. D

32.D 33.A 34.C 35.B 

36. fatal 37.cured 38.stubborn 39.span 40. enormously 41.witness 42. losing

43.extension 

44. All their hidden frustration, disappointment and jealousies seem to be brought to the surface by driving.

45. The driving test should be standardized and made far more difficult than it is.

46. But surely nothing should be considered too severe if it results in reducing the annual toll of human life.

4级答案(二)

Keys: 
Section A

11. D 12.C 13.D 14.B 15.B 16.D 17.C 18.C 

19.B 20.D 21.C 22.C 23.D 24.C 25.A

Section B

26.B 27.A 28.C 29.D 30.A 31. B 32.A 33. B 34.C 35.B

Section C

36. talent 37. extent 38. guessing 39. former 40. enrolled 

41. groundless 42. financially 43. principal 

44. Most dropouts are now engaged in work consistent with their education and motivation.

45. but those who mentioned academic reason cited failure to pass the qualifying examination

46. Among the single most important personal reasons identified by dropouts, lack of finances. 
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